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(2)  odl % Uil A2 B,
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1 Al 20041 29 uRRAR Rl 206200 WL 254 isH
A)  Anki-Had-da
B) lsa-ault
(C) ld-Manda
D) aAula-Maudat

The sequence of basic unit in the study of living organism and the study of
Ecology is

(A) Species-Ecosystem
(B) Individual-Population
(C) Individual-Ecosystem
(D) Population-Ecosystem

2 aeaRs el H{luy -l
(A) s34l
(B) ouL ¥
(C) A2
(D) uae
Not the product of anaerobic respiration
(A) Fumarate

B) Al
(C) Citrate
(D) Malate

3 vy SNl sl
(A)  UHIR YAl
(B) s uel A8
(C) ull aeq
D) [our-
The function of passage cell is
(A) To give support
(B) None of these
(C) To conduct water
(D) Duvision
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4 dldlaR8IAL By U M1 AL ALK GuAloL Ay © 7
(A) S50
(B) s uel A8
(C)  -{lH1{leR
(D) ydlAls
Which instrument is use for the measurement of atmosphere humidity ?
(A)  Hygrograph
(B) None of these
(C) Anemometer
(D) Thermograph

5 Hd oflaml uu
(A) ud % -l
(B) £ % U
(C) »dl €u
D) I &
Respiration in dead seed
(A) Not take place

(B) Israre
(C) Isfast

(D) Isslow

6  YUA-Gues-Guailsdl-[aaes-visiolHs Dusdrl-dl MR, 210 54 g yad 87
(A)  us10Ms NSl as-
(B) s uel A8
(C) Glod ey
(D) Gl waus

What indicate this sequence Sun-producers-consumers-decomposers-treasure of
inorganic nutrients ?

(A) Flow of inorganic nutrients
(B) None of these
(C) Energy consumption

(D) Energy flow
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7 2l AUl 813l vuadl anula
(A) AU
B) ol
(C) suauel
D) Mldlsyal
Presence of trigger hairs in
(A) Drosera

B) Al
(C) Pitcher plant

(D) Pinguicula

8 s A+l ulku
(A) SN BUYUIRSHL A1Y
(B)  SRUMYAHL A
(C) olAM U A

D) llaseml aiy

Aerobic respiration take place at
(A) Cytoplasm

(B) Mitochondria

(C) Ribosome

(D) Chloroplast

9  uRusa Rl 58 d-ufanl Aal wal ?
(A) -5l sldeloll
(B) o4l %
(C) 0[5
(D) -syad
Which plant with rudimentary embryo ?
(A) Gynkgo biloba

(B) Every
(C) Orchid
(D) Rannunculus

10 36 s led
(A) C; s
(B) s uel A8
(C) TCA 4s$

(D) %S A~

Krab’s cycle means

(A) C;cycle

(B) None of these

(C) TCAcycle

(D) Anaerobic respiration
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11 o sl sl
(A)  ASASRU 4
(B) & u¥Ry ya
©) [ar ya
(D) 03 ya

Passage cells are present in
(A) Rhizophora root

(B) Typha root
(C) Awvicennia root

(D) Orchid root

12 sellRas sid
(A) L8
(B) ouL ¥
© gl
(D) Ywile™aq
Role of florigen is in plant
(A) Germination

B) Al
(C) Root growth

(D) Flowering

13 &AL eI G ...
(A) USSR IO
(B) s uel A8
(C) llBux~, urll, ATP
(D)  swel-3sS3, well, ATP
Product of aerobic respiration
(A) SO,
(B) None of these
(C) O,, Water, ATP
(D) CO,, Water, ATP
DF-3011_C |
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14 [azesl ved ...
A)  dldl axulad
(B) A8, 531
(C) quueiRl
(D) walMs Guellsdl
Decomposers are
(A) Green plants
(B) Bacteria, fungi
(C) Herbivores

(D) Primary consumers

15 ugile ol Aol Fdl a-UMlL 3uidR 58 adufal Ay ?
(A) AyRun
B) lau=[u1
(€) -lzalRun
(D) Hadladl
In which plant leaf modify in a sewage canal like structure ?
(A)  Anthurium
(B) Tillandisia
(C) Nidulariun
(D) Hiptage

16 dldl anufi w2 Gl adl 3usiR
(A)  YduBaidl ¥a Gl
B) %4 Glastuidl ydald
() yAaBaxidl gy b
(D) AAABsHi] YAABd
Energy transfer in green plants
(A) Photo energy to bio energy
(B) Bio energy to photo energy
(C) Photo energy to chemical energy
(D) Chemical to photo energy
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17

18

19

20

(A9 aidl Ase 4 3 wsdl Al

(A) daysiside

B) dladlsiden

(C) sdlsidex

D) fusiden

The plants which not tolerate extra salinity are
(A) Glycophytes

(B) Lithophytes
(C) Halophytes

(D) Epiphytes

sulL M-l a-iufd [ARre a5 Haioldl 22 qud © ?
(A)  aRlel™e

(B) s uel A8

C) aylus

(D) vs1a

The plant community with felted rhizoidal root apex

(A) Halophyte

(B) None of these

(C) Mangrove

(D) Lithophyte

660 nm dlsidl-ll Uslals URL Sl $142514

(A) 9L dlal oL

B) Mlal i

(C) Rl dlal -l

(D) dld VIl

Phytochromes which absorb 660 nm wavelength of light are
(A) Light green

(B) Yellow

(C) Blue green

(D) Red

oG AL s QL sl AR AU eAMUIA A 32l B Ysd Wy ?
How many calories release due to consumption of one molecule glucose in aerobic
respiration ?

(A) 674 calories

(B) 300 calories

(C) 128 calories

(D) 254 calories
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21 59 adufan yw Baua sdL 25 HsIROU6N ¢ dloll usiauel %33 © 7

(A) sisl
(B) 2™l
(C) »lle

(D) g

Which plant need short dark period and long light period for flowering ?

(A) Coftee
(B) Tomato
(C) Oat

(D) Tobaco

22 A Yadl e1dl Yad sn
(A) g5l
(B) o4l %
(C) ANa-R(l
(D)  ASASRAL

Presence of pneumatophores in family

(A) Cucurbitaceae

B) Al

(C) Solanaceae
(D) Rhizophoraceae

23 [Mau-idaadl Fa ssH g ssay ?

(A) A%
B) B
©) b
D) adld

What is the biological unit of an ecosystem ?

(A) Community
(B) Individuals
(C) Species
(D) Population
DF-3011_C |
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25

26

27

oG ANBeIl Vs 2Rl £8+1 HI2 BBAUAAL J2al w9 3 © 7

How many molecules of oxygen need for the consumption for one glucose molecule?
(A) 6

B) 4
© 1

®) 2

qRL el e d-iRufi UsR sdl €1y 7
(A) #1
B) &M
€ &
(D) dal

Which is vegetation type is dominant in grassland ecosystem ?
(A) Herbs

(B) Shrub

(C) Tree

(D) Climbers

Qe faell vieian uReud ol diuHie
(A) AHdl W8

(B) s uel A8

(C) Gy W

D) -3 28

Temperature of soil due to lack of vegetation is

(A) Balanced
(B) None of these

(C) High
(D) Low

AclsNRL ol $181 RATARA dde A g sy ?
(A)  wdls 4

(B) s uel A8

(C) siglaya o

(D) dlzy ¢y

The soil transported due to gravitational force is known as
(A) Alluvial soil

(B) None of these

(C) Colluvial soil

(D) Loess
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29

30

suL el vfeainel alsi sfad ueid sdl adR €l ?
(A)  s10i[Hs ueldl i us16lHs el o

(B) s uel A8

(C) sl usial

(D) us16iMs uglal

Which substance have more adsorptive capacity than colloidal substance ?

(A) Carbonic substance and Acarbonic substance Both

(B) None of these
(C) Carbonic substance

(D) Acarbonic substance

ol le [Hume AL glL Ay © 7
(A) welHe vl

B) Al

(C) el

(D) alleyel

Transpiration is regulate by

(A) Mesophyll tissue

(B) Epidermis

(C) Stomata

(D) Vascular bundle

QRifctseil ulBaL eflow sul uH 2avny ?
A)  Aldlo x4

(B) s uel A8

(C) UM%

(D) A

Vernalization also known as
(A) Chilling effect

(B) None of these

(C) Transpiration

(D) Respiration
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31 Au-ls ved
(A)  duydd 0,/6c4n A4 CO,
(B) s uel A8
(C) GBua 9dd CO,/auridd O,
(D) Gz 4dd 0,/auudd CO,
Respiratory quotient equation is
(A) Used O, / Produced CO,
(B) None of these

(C) Produced CO, / Used O,
(D) Produced O, / Used CO,

32 omHl e [Radsl aumelHl A
(A) ay €y
B) ol -l [Bul ol 2wy ©
(C) AU 81
(D) 9l €1y

Transpiration rate at night with compare of day
(A) More

(B) Transpiration is stop

(C) Equal

(D) Less

33 g2 sna el adld avua
ENIRESRSITREERTEDIE
B) AA(l2u
(C) Mu-ax
D) RPRAM»0
Known as pseudo pitcher plant
(A) Dischidia rsfflesiana
(B) Sarracenia
(C) Nypenthes
(D) Darlingtonia
DF-3011_C | 11
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34 AU eAMAA WA AR SAL G wy © 7

(A)  SRUMYA
(B) SIMIUIRS
(©) +lasal
(D) $N3

Where the pyruvic acid produce during respiration ?

(A) Mitochondria
(B) Cytoplasm
(C) Choroplast
(D) Nucleous

35 <llAumidl & uReta ol Qg Hie waeelR Yl ?

(A)  ®dl-l [a-ua
(B) %
(C) ua+
(D) dWle

Which factor is responsible for soil erosion ?

(A) Deforestation
(B) Humidity

(C) Wind

(D) Rain

36 59 wgeall aduli JAR( 0 vl © 7
A Mldlsyal
B) ol ¥
(C) Huadl
D) u&flua
Which plant from droserace family ?
(A) Pinguicula

B) Al
(C) Sundew
(D) Dionaea
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37

38

39

40

ay [Rafly aqfadl Pr ysleeian
(A) Gux

(B) s uel A8

(C) a8

D) Ml et-ud

In short day plant of flowering Pr is
(A) Excite

(B) None of these

(C) Inhibit

(D) Decrease

aidlsei-dl Bal aqufaAdl wa-sia
(A) AHdle s3 asiy

(B) s uel A8

(C) esidl asiu

(D) doudl usiy

Life cycle of plant by vernalization
(A) Form balance

(B) None of these

(C) Form short

(D) Form long

A-unidl 54 ofleigel HA4s © 7

(A) SR v UA AL R o
(B) s uel A8

©) sHRA

(D) U 15 2143

Which germination inhibitor given below ?
(A) Kumarins and Para ascorbic acid Both

(B) Not any
(C) Kumarins
(D) Para ascorbic acid

dai- uglld 514

(A) s &R Msie
(B) syl &l el
(C) 2UHIR Yl

(D) vRLs AAS

The role of Vallamen tissue

(A) Remove extra salt

(B) Absorb moisture from air
(C) Support

(D) Storage of food
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42

43

SERd-L ASLS SIHER

(A)
B)
©
(D)

EUICIENT
IOEIEN]
Baulesl
[ag2s)

The natural cleaners are

(A)
B)
©
(D)

Consumers
Symbiont
Producers

Decomposers

AR Ad suM

(A)
B)
©
(D)

ofleflofl
S ERVIETN
oflefl Wl
oflel auld

Chemically phytochrome is

(A)
B)
©
(D)

Bilirubin
None of these
Bili protein

Bili vardine

welml Mol odl - 4adl fewsiRl aqfa

(A)
B)
©
(D)

Haflulal
sl
glauel
AARL

Insectivorous plant, with a hinge like structure in leaf

(A)
B)
©
(D)

Dionaea
Pitcher plant
Utricularia

Drocera
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44 anufa AL [RASIRAAL dossiplAl sY
(A)  deuF-O5AA-ulBuIRalse-2a 118l
(B)  O¥AlU-2a-l-dBI-g e g 1-UlBuIRelse
(C) AUAdR-O3AA-g e g1-uliBuledlsel
(D) AULAdRI-G-e A% -5 A-UBuIelse
The sequence of plant community development stages
(A) Aggregation-ecesis-reaction-stabilization-migration
(B) Ecesis-migration-agreegation-reaction-stabilization
(C) Migration-ecesis-aggregation-reaction-stabilization
(D) Migration-aggregation-ecesis-reaction-stabilization

45  uRRRYML @S SNl AvaL

Numbers of guard cells in stomata are:
(A) Three

(B) Four
(C) One

(D) Two

46 GugAMs ofleigrel A suladl Al
(A) 3yl
(B) AL
C) -wmaR

(D) el

Not Hypogeal germinating plant
(A) Sunflower

(B) Paperomia

(C) Coconut

(D) Chick pea

47 lA-umidl 4 o © 7
(A) AAHA-UYRAMB 1
(B) M Ms-FoLull
(C) %Y - [ar
D) GuRHHs-AY
Which is not appropriate ?
(A) Mesogeal-Paperomia
(B) Hypogeal-Onion
(C) Vivipary-Avicennia
(D) Epigeal-Musterd
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48 a=Ruanl dui a3z well g2 sl Bu vied
(A) Bigedsq
(B) >0
(C) UM%
(D) wlR(l
In plants, loss of water by drop is
(A) Guttation
(B) Dew

(C) Transpiration
(D) Hydathode

49 lA-umiYl 3 o1 © ?
(A) 52 w0
(B) Ml wAL-Hudladl
(C) x4 yAALl-a3
D) aisl-uREl-Elalzelluil
Which is not proper given below ?
(A) Pseudo epiphyte-Tinospora
(B) Nest epiphyte-Hiptage
(C) Hemi epiphyte-Ficus
(D) Tank epiphyte-Tillandisia

50 3uidRsld sid
(A) <UL g2l ustelMs A stolHs dadl $aq v vls Gl o=
(B) s uel A8
(C) ~usL =28l usielMs A sielMs dwanl a4
(D) s Gules
Role of transformers

(A) Transfer small particles into acarbonic and carbonic component and Food
formation Both

(B) None of these

(C) Transfer small particles into acarbonic and carbonic component

(D) Food formation
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